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P () yA-TEAATEEAY REEHE
Note : There are THREE sections in the paper A, B and C.
i) QFA-T § ¥eT GG 1 % @t 10 57T % I Y | ¥ 97 @ Hb F1 8
g @ 10 97T FEGHE TER F T F 8 |

Answer all the 10 parts of the question No. I in Section A. Each part
carries one mark and all 10 parts have objective type questions.

(i) Q- % 8 ¥ 4 @ f= 6 ¥l & I AT | TP T 3 3% F1 8 ¢d
g7e7 5 IET / 50 Wl 7 I G |
Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

iv) AEA-8 % 6 Y 7 @ fbg 4 T F I G | §eF T 8 b H1 8 T4
797 15 T / 150 11 4 37 7T |
Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

() I S % @) YT ) FHAR OF AT & FIT |
Solve all the questions of a section consecutively together.

(vi) ﬁ#wﬁﬁmgﬁaﬁ@ﬁﬁaﬁsﬁmﬁm? /

Only English version is valid in case of difference in both the languages.

JAWH - T

Section — A

1. @) a@wﬁwmm%ﬁﬁm%ﬁmﬁmm%é-mﬁmﬁma

GITEﬁ% .
(a) JeE WA~ (b) S w -3
(¢) fafvaa feafa A-3mse (d) EAHE A-HI
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(v)

(vi)
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The following type of layout is preferred to manufacture a standard product in
large quantity :

(a) Product layout (b) Process layout

(¢) Fixed position layout (d) Combination layout
frsrfefiga 1 & fore wabm &1 @1-3113¢ HAiEmTaTge fafamio g % forg 3uge 2 7
(a) I AATIE (b) wfsran A3

(c) Tafvam feufa stamse (d) HIEHE A

Which of the following type of layout is suitable for automobile manufacturing
plant ?

(a) Product layout (b) Process layout

(¢) Fixed position layout (d) Combination layout
H1d Freaga § wite @

(a) aa fafa sez (b) Fae S °THH

(c) fafy sremam it = arA (d) Hae fa HA=TA
Work study involves

(a) only method study

(b) only work measurement

(¢) method study and work measurement

(d) only motion study

GHY HHFA | g ITH &

(a) T IR (b) wiskan =mé
(c) o (d) whaE
Basic tool in Time study is

(a) graph paper (b) process chart
(c) planning chart (d) stop watch

Ieqred, A 3R fren % fafafea 3 | @ @ s fafafua 6 e awf
B wafua 2 ;

(a) g (b)

(c) qEIAM (d) =i et

Which of the following functions of production, planning and control is related
to the time-table of activities ?

(a) Scheduling (b) Dispatching

(c) Forecasting (d) Routing
ERICCRIEC) % feru srmavas 2 |

(a) H=h wEu (b) T[T YEEE

(c) mgfd wau (d) I At
Production planning is essential for

(a) Inventory management (b) Quality management

(¢) Supply management (d) All of the above
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(vii) wevE ¥ fagri & an # frafafia 3 8 S5 9 %9 d96 2 7

(a) v ¥ fagia fawm &1 v daaq afFn H 2 |
(b) wauA ¥ faga fawfaaged |

(c) e % fagia famfaa 72 gu d |

(d) 3 & rd ofi A&

Which of the following statement is true about principles of management ?
(a) The principles of management are in a continuous process of evolution.
(b) The principles of management have evolved.

(d) The rear end collision increases. (1x10)
e —
Section - B
> UE I AT & fagrl i HHIT |
Explain principles of a good layout. (3)
3. @ weEd % Jev fafae |
Write objectives of work study. (3)

(¢) The principles of management have not evolved.
(d) None of the _above
(viii) U%.Zeg, Jeil 1 Ha Y GRS
(a) efreh wEu (b) wiaes yEu=
(c) Iyl yauA (d) ufEed e
F.W. Taylor is associated with .
(a) Scientific Management (b) Future Management
(¢) Modern Management (d) Transport Management
(ix) Frferfiad #f @ @ =1 et /aTstEe ghesl o wwfed HRE R 7
(a) wHfmagfegd (b)  3TaaETH ETHT ST
(c) INuaTH AHeTEATH (d) =g WA AT
Which of the following is the possible cause of pedestrian/bicycle accidents ?
(a) Limited sight distance (b) Inadequate barrier system
(¢) Inadequate channelization (d) Heavy Traffic on intersections

(x) e fomrel %1 U THEH @
(a) <rR w afedd vare e 2 |
(b) ATATETA SETE el e Hgur A 2 |
(©) e Eefem e e 2 |
() foee a6 zer wg 9Tl 2 |
One of the disadvantages of traffic signals is
(a) Provide orderly movement at intersection.
(b) The quality of the traffic flow improves.
(¢) Traffic handling capacity increases.

7360
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4.

10.

Y.

3.

14.

-

IqTed JEEA e fa= 1 e fafau |

Write importance of production planning and control.

Asife waw @t wfearfed Hifae |

Define Scientific Management.

g3t & o we | ferfen |

Write causes of accidents in brief.

T §HG 991 & 7 3HH! 0T HA H A B 7

What is Standard time ? How it is calculated ?

frderf sRw AET TR ?

What is Economic order quantity ?

fashl 1 ITaYTON 1 HeE9 °§ THHTST |

Explain concept of sales in brief.

A — €

Section - C

fafirs g & @- 311328 &1 fa= 6l e & a9y |
Explain various types of layouts with the help of diagram.

1 7rga 61 fafir= qadiet =1 avia Hifae |

Describe various techniques of work measurement.

3eqTe % fafirs yerl = faean | awemse |

Explain various types of production in detail.

vau & fafim &l &1 avia Hifa |

Describe various functions of management.

Tz guan fugl &1 fawar @ wweme |

Explain Road signals for safety in detail.

forfreor a1 wivTfa shed gu e & w1 anese |

By defining inspection explain various types of inspection.

=
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